
IJse CASIO FX-280 to Find Sample Mean X k Sample S.D.  S

To Cornlrute X arrcl S for c,lata: I'2,15,4

o l)r'erss MODtr

r  Press . (Yor r  sho t r l c l  scc  SD a t  l , l r c  to l r  r ig i r t ,  ( 'o rn ( ) l  o f  t l r r r  r , v in t lo rv )

o Tyire 12 i r r to thc lv i r r r lorv.  t l r r : r r  p lcss M+

r Type 15 i lrto the winclo'uv, thcrr prcrss M+

r Type 4 into tl ie winclow. therr l)resis M+

o Prt :ss SFIIFT. t , l t t r t t  l ) I 'css n (Ytrrr  shorr lc l  scrc.J.  u, l r ic l i  is  t l rc tot ,a l  / f  of  o l rs.  vorr  err t r : r t :c l )

o l ) ress SHIFT. hir t 'u I ) l ( 'sr i  d (Vorr  s l rurr l t l  sce 10.. l iJ :133333. r , , , , l r ich rs thr :  sarrrpie ntr :arr)

o Prcss SHIFT. thert  press on-r  (Vn shorr ic l  sr :c 5.68624070:1,  which is thc:  strrnplcr  s.r l . )

o Prt :ss SFIIFT. t l r r : r r  pr ' ( )ss AQ (to < 'k ' i l r ' ; r l l  r l : r ta crr terrrr l )

o l ) l ' t :ss MODtr.  t , l t t r t t  [ ) t ' ( )ss 0 ( t t t  I ' ( ' t l l t ' t t  to t tst t i t l  t t tor l t ' .  i i r r r l  s igrr  SD cl isal) l ) ( )a,r 's i  i1 lv i lc lorv)



lJse TI-3OXIIS to Find Sample Mean X k Sample S.D. S

To Cornpute X ancl S

o Press 2nd Data

fbr dirt i i : 12. 75, 4

(to get i r r to Stat  Modo)

o Press Enter to select 1-var rnodet

o l)r 'css l)ata

o Tyltc' 12 nftcr Xr :

Irrcss V, thr:n typc 1 a1'ter I.'ltQ :

Press V, therr type 15 after X.z:

l) l ' r , :ss V. t l rr :rr tylrr:  1 a, l tcr lr l l ()  :

I)ress V, therr type 4 nfter Xr :

Press V, then type 1 after FRQ :

Press STATVAR. thcrr rnove kr:y > to sccr
t ' tc : . .  r ,vhcrr :  ^9. , .  is  t l r t 's i l r l l l r lc  s . t l .  ,5 '

Press 2nd STATVAR (to <1rri t)

t t  :  3 .  X  :  10 .3333333 ,  S ,  :  5 .686240703 ,

YouT\rb e Link : lrt t 1t : / / r,vrvlv..1rout u b c. corn /wat cir?v : N Vq.j P h3 LF U Y



Using  thc  T I -82  to  F ind  the  Szrmple  Mean and Sarnp le  S tandard  Dev ia t ion

Suppose that you want to f ind the nrean and the standard deviat ion of  thc data set  g iven

be low us ing  the  T I -82  graph ing  ca lc r r la to r .

t 7  1 5  2 3  1 9  1 4  2 1  2 5  2 9  2 0  2 2

F i rs t ,  you  w i l l  need to  en tc r  thc  da ta  l }om the  Ed i t  sub-mcnu.  [ ) rcss  the  S1 'AT key  and

p r e s s  F I N T I i R  t o  s c l e c t  t h c  l ;  ( l r d i t . . . )  o p t i o n .  Y o t t  m a y  s c c  t h c  f b l l o w i n g  s s r c c n :

L 1 ( 1 )  =

The TI-82 wi l l  s torc up to s ix  l is ts  of  data.  I f  you wish to c lcar  any par t icu lar  l is t ,  ar row
up to the l ist name, press CLIlAR and then press ENIi:B

Ilnter your data values, pressing ENTIIR after each entry. You should see the fol lowing
screen aftcr entering the data above:

To calculatc t lrc descript ive summary nrcasurcs, press S' l 'Al ' ,  r ight arrow to CALC, and
press ENTER to se lect  the l :  l -Var  Stats  opt ion.  You rnust  now indicate the name o1 ' the
d a t a l i s t t h a t y o u w a n t t o a n a l y z e .  I n t l r i s c a s e , y o u w i s h t o u s e l i s t # l  ( l , l ) i n t h e
anafys is .  Press 2"o J_(L l )  to  sc lcct  thc f i rs t  l is t .  

' l 'hcn 
press BN' l ' t ' ,R.  You should see thc

fo l lowins screen:

1 - l.,ret- 5t,aLs
i=20 ,  5
Ex=205
Ex r  =439 1
5 x = 4 . 5 7 6 5 1 0 8 7 3
s)<=4.  341658669

l n = 1 8
I

This scrccn ind icatcs that  the sarnple mcan is  x :20.5 and the sarnple s tandard deviat ion
is  s  =  4 .5765 .
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